Name: Date:
Teacher: Class:
Addition 307

©
l What is a bow that is impossible to tie? A rainbow.
Add these numbers to find the total.
! 87 2 48 3 22 4. 9 > 36
+ 40 + 18 + 44 + 82 + 53
6 67 6 8. 54 o 44 0. 48
+ 32 + 90 + 67 + 73 + 84
11 05 12 22 13 45 14. 44 15. 39
+ 17 + 69 + 27 + 30 + 19
16 41 17 25 18 47 19. 7 20. 19
+ 82 + 60 + 87 + 44 + 12
21 26 22 30 23 50 24, 6 25. 21
+ 57 + 20 + 56 + 47 + 72
26 66 27 38 28 89 29. 5 30 16
+ 35 + 48 + 84 + 93 + 61
© Facilitators Ferriswheel WS#:Add307 Score:



Answer Key Date:

Teacher: Class:

Addition 307

What is a bow that is impossible to tie? A rainbow.

Add these numbers to find the total.

L 87 2. 48 3. 22 4 9 5
+ 40 + 18 + 44 + 82
127 66 66 91
6 67 7 6 8 54 9 44 10
+ 32 + 90 + 67 + 73 + 84
99 96 121 117
1. 95 12. 99 13. 45 4. 44 15
+ 17 + 69 + 27 + 30 + 19
112 91 72 74
16 41 17 25 18 47 19 7 20.
+ 82 + 60 + 87 + 44 + 12
123 85 134 51
2. 2@ 22. 30 23.  5Q 24 6 25
+ 57 + 20 + 56 + 47
83 50 106 53
26. 66 27. 38 28. g89g 29 5 30
+ 35 + 48 + 84 + 93 + 61
101 86 173 98
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